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6.84 Oil (u = 0.4 N-s/m’) flows between two fixed horizontal infinite B —1 = X
parallel plates with a spacing of 5 mm, The flow is laminar and steady )‘) =,
with a pressure gradient of -900 (N/m?) per unit meter. Determine the

volume flowrate per unit width and the shear stress on the upper plate.
Lﬂ ——J“

From Eg. (6.136) P o
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For this flow 2h=5mm or h=2.5mm =2.5x10°m
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Hence,
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On the upper plate y=h so tha
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—%‘Eh (700—4'/)(2:“/0 m)=2.25 - Ai gcting in the
positive X-direction(the direction of Hlow),



